		Superior Project Name: Jordanelle - Midway 138kV Underground Line Option 1								
Item		Description	Specification Reference	Major Mat'l By	Minor Mat'l By	Quantity	Unit	Unit Price		Extension
200		Project Management					Subtota	l 200	\$	15,352
3040.0010	1	Project Management		С	С	1	LS	15,352.00		15,352
300		Mob & De-Mob					Subtota	il 300	\$	189,566
3070.0000	1	Mobilization & De-Mobilization		С	С	1	LS	189,566.00		189,566
400		Civil construction work					Subtota	il 400	\$	8,128,246
3070.0000	1	Trenching		С	С	6,990	FT	63.00		440,370
3070.0000	2	Boring		С	С		FT			-
3070.0000	3	Pavement Cutting		С	С		FT			-
3070.0000	4	Ductbank		С	С	6,990	FT	668.00		4,669,320
3070.0000	5	Thermal Backfill (Concrete)		С	С	9,068	CY	237.00		2,149,116
3070.0000	6	CDF Backfill (Concrete in Separation Space)		С	С	2,080	CY	418.00		869,440
3070.0000	7	Vault Installation (Price per vault)		С	С		LS			-
500		Vaults					Subtota	il 500	\$	880,836
3373.0500	1	Vault		С	С	6	EA	146,806.00		880,836
600		138 kV Cable Installation					Subtota	il 600	\$	2,609,049
3373.0500	1	Cable Pulling		С	С	1	LS	2,609,049.00		2,609,049
3373.0500	2	Cable Splicing (price per splice)		С	С		EA			-
625		138 kV Cable testing					Subtota	d 625	\$	39,652
3373.0500	1	Cable testing		С	С	1	LS	39,652.00		39,652
700		Environmental Monitoring System					Subtota	il 700	\$	-

1/29/2015 Page 1

Superior Project Name:

Jordanelle - Midway 138kV Underground Line Option 1

Item		Description	Specification Reference	Major Mat'l By	Minor Mat'l By	Quantity	Unit	Unit Price	Extension
3373.0500	1	Environmental Monitoring System		С	С		LS		

800	800 Cable/hardware assemblies				Subtota	I 800	\$ 7,421,624		
3205.2310	1	Terminators		С	С	16	EA	30,122.00	481,952
3205.2310	2	Arrestors		С	С	16	EA	3,607.00	57,712
3205.2310	3	4/0 AWG copper neutral		С	С	13,980	FT	9.00	125,820
3205.2310	4	Link boxes		С	С	1	EA	70,471.00	70,471
3205.2310	5	Sheath Voltage Limitors (SVLs)		С	С		EA		-
3205.2310	6	Cable clamps		С	С		EA		-
3205.2310	7	Support arms for manholes		С	С	1	EA	205,697.00	205,697
3205.2310	8	Cable Lubricant		С	С		EA		-
3205.2310	9	Splices		С	С	48	EA	11,161.00	535,728
3205.2310	10	Expanding Conduit Plugs		С	С		EA		-
3205.2310	11	Grounding Cable		С	С	13,980	FT	3.00	41,940
3205.2310	12	Ground Clamps		С	С		EA		-
3205.2310	13	Ground Rods		С	С	12	EA	192.00	2,304
3205.2310	14	Cable (CU or Aluminum)		С	С	59,000	FT	100.00	5,900,000
3205.2310	15	Cable (GIL)		С	С		FT		-

900		Special / Miscellaneous					Subtota	I 900	\$ 973,873
3000.0000	1	Security/Traffic Control		С	С	1	LS	166,810.00	166,810
3000.0000	2	Cable Warranty - 3 yrs		С	С	1	LS	302,649.00	302,649
3000.0000	3	Cable Warranty - 5 yrs		С	С	1	LS	504,414.00	504,414

1000 Special / Miscellaneous

Subtotal 1000 \$ -

1/29/2015 Page 2

Superior Project Name:

Jordanelle - Midway 138kV Underground Line Option 1

Item		Description	Specification Reference	Major Mat'l By	Minor Mat'l By	Quantity	Unit	Unit Price	Extension
3000.0000	1	The bidder shall submit, with each copy of his proposal, a list of spare parts and other special fixtures and devices which he recommends for the installation and which Company shall have the option to purchase at any time until shipment of the equipment in quantity of each item it so desires. This recommendation shall include all the spare parts that the Proposer recommends be carried in stock to enable prompt repair after any outage of this equipment that may reasonably be expected, and taking into account the length of time required to obtain replacement parts from the Proposer.		С	С	1	LS		
3000.0000	2	The spare part recommendation shall be divided into two groups. One group shall specifically include all gaskets and other expendable items that may reasonably be required during the preliminary operating and testing period. The other group shall include all spare parts required in normal maintenance service		С	С	1	LS		-
3000.0000	3	Each of the items shall be fully identified and separately priced for Company. The spare parts which Company decides to purchase shall be tested according to the functional test as described in the Specifications		С	С	1	LS		-

1100	1100 Sales Tax				Subtota	l 1100	\$ 337,900		
3100.0000	1	Sales Tax		С	С	1	LS	337,900.00	337,900

Total - Base Bid 20,596,098

- Provided By PacifiCorp

Provided By Contractor

Both

NOTES:

- 1 Quantities listed are for information only, and are an approximation to give the general magnitude of the scope of work. Quantities generally reflect measurements shown on the plan and do not include waste, nor do they represent ordering quantities.
- 2 Contractor is solely responsible for determining the price and quantities required for construction.

3 Items not listed are incidental to the other line items listed therein.

1/29/2015 Page 3

Superior Project Name:

Jordanelle - Midway 138kV Underground Line Option 1

		Specification	Major	Minor				
Item	Description	Reference	Mat'l By	Mat'l By	Quantity	Unit	Unit Price	Extension

- 4 Quantities will not be measured in the field, nor adjusted for actual quantities installed.
- 5 In the event of scope changes from "Plans for Pricing" to "Plans for Construction", if the scope of work
- 6 The contract will be awarded to the Contractor who submits the proposal that best fits PacifiCorp's
- 7 The Contractor is required to fill in the pricing schedule. Failure to complete the entire schedule may
- 8 Scope of material supply designations: "C" is Contractor Furnished Material and "P" is PacifiCorp

1/29/2015 Page 4